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const int MAXN=1e5+5;

const LL Inf=1el8;

struct Edge
int to,w,next;

edge | MAXN* ;

int head MAXN<<3],edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,w,head/ul};
head|u/=edge cnt;

template <typename T>
struct dijkstra
T dis [MAXN<<3];
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bool vis|[MAXN<<3];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis|i|=Inf;
dis|src|=0;
g.push(make pair(dis|srcl,src));
Iq.empty

pair<T,int> temp=q.top();q.pop
int u=temp.second;
vis|u

.
’

visiul=true;
int i=head|u];i;i=edge[i].next
int v=edge(i].to;
dis/v/>edge/i|.w+dis|u
dis|v/=edge/i|.w+dis|u/;
g.push(make pair(dis|v],v

’

dijkstra<LL> solver;
int lef[MAXN<<2],rig[MAXN<<2|,Treel|MAXN<<2|,Tree2|MAXN<<2|,node cnt;
void build(int k,int L,int R
lef(k!=L,rig/ k!=R;
int M=L+R>>
L==R
Treel kl=Tree2[k|=M;

’

’

Treel k|=++node cnt,Tree2|k|=++node cnt;
build(k<<1,L,M);
build(k<<1|1,M+1,R);
Insert(Treel k| ,Treel|k<<1],0);Insert(Treellk|,Treellk<<1|1],0);
Insert(Tree2 k<<1l]|,Tree2/k!|,0);Insert(Tree2|k<<1|1],Tree2(k!,0);
void AddEdgel(int k,int L,int R,int v,int w
L<=lef|k|&&rig|k|<=R
Insert(v,Treel(k],w);
int mid=lef|k|+rig/ k/>>1;
mid>=L
AddEdgel (k<<1,L,R,v,w);
mid<R
AddEdgel (k<<1|1,L,R,v,w);

void AddEdge2(int k,int L,int R,int v,int w
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L<=lef|k|&&rig|k|<=R
Insert(Tree2(k],v,w);
int mid=lef|k|+rig/ k!>>1;
mid>=L
AddEdge2 (k<<1,L,R,v,w);
mid<R
AddEdge2 (k<<1|1,L,R,v,w);

void Init(int n
node cnt=n;
build(1,1,n);

int main

int n=read int(),m=read int(),s=read int();
Init(n);
m__
int type=read int();
type==
int u=read int(),v=read int(),w=read int();
Insert(u,v,w);

int v=read int(),l=read int(),r=read int(),w=read int();
type::
AddEdgel(1,1,r,v,w);

AddEdge2(1,1,r,v,w);

solver.solve(s,node cnt);
_rep(i,1,n
space(solver.dis|[i|==Inf?-1:solver.dis[i]);

’

Ooo0o

0 0 p6348

0

$n$00000000000000 $(abed$ 00000 $[abl$000000 $[cdl$0000O0D0

o000 $1s000

gooogoooo

CVBB ACM Team - https://wiki.cvbbacm.com/


https://www.luogu.com.cn/problem/P6348
https://www.luogu.com.cn/problem/P6348

Last

update: 2020-2021:teams:legal_string:jxm2001:
2021/02/11 gooooooo

16:20

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E6%95%B0%E6%8D%AE%E7%BB%93%E6%IE%84%E4%BC%I8%ES5%8C%I6%ES5%BB%BA%ES%9IB%BE

o

gobooobobooobbooobooon

O0000O0o0oDooOon $uvso O $[a,bNtous O $vito[c,d]$ D00 DO OO $0$0 0000 $ulto v$
oooooosisoooon

000 $01\text{bfs}$ 00O OO0 O0O0O $O0(m\log n)$[]

const int MAXN=5e5+5,Inf=1e9;

struct Edge
int to,w,next;

edge | MAXN* C

int head[MAXN* ,edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,w,head/ul };
head|u/=edge cnt;

int lef[MAXN<<2],rig[MAXN<<2|,Treel|MAXN<<2|,Tree2|MAXN<<2|,node cnt;
void build(int k,int L,int R
leflk!=L,rigl[kl|=R;
int M=L+R>>1;
L==R
Treel k|=Tree2|[k|=M;

’

Treel|k!=++node cnt,Tree2|k|=++node cnt;

build(k<<1,L,M);

build(k<<1|1,M+1,R);

Insert(Treel k| ,Treel|k<<1],0);Insert(Treellk],Treellk<<1|1],0);
Insert(Tree2 k<<1]|,Tree2(k!|,0);Insert(Tree2|k<<1|1],Tree2/k!,0);

void AddEdgel(int k,int L,int R,int v,int w
L<=lef|k|&&rig|kl<=R
Insert(v,Treel k|,w);

int mid=lef|k|+rig/ k!>>1;
mid>=L

AddEdgel (k<<1,L,R,v,w);
mid<R

AddEdgel (k<<1|1,L,R,v,w);

void AddEdge2(int k,int L,int R,int v,int w
L<=lef|k|&&rig|k|<=R
Insert(Tree2(k],v,w);

int mid=lef|k|+rig/ k!>>1;
mid>=L

AddEdge2 (k<<1,L,R,v,w);
mid<R

AddEdge2 (k<<1]|1,L,R,v,w);
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void Init(int n
node cnt=n;
build(1,1,n);

int dis|[MAXN* ;
int main

int n=read int(),m=read int(),s=read int();
Init(n);
m__
int a=read int(),b=read int(),c=read int(),d=read int(),u,v;
u=++node_ cnt,v=++node cnt;
AddEdge2(1,a,b,u,0);
AddEdgel(1,c,d,v,0);
Insert(u,v,1);
u=++node cnt,v=++node cnt;
AddEdge2(1,c,d,u,0);
AddEdgel(1,a,b,v,0);
Insert(u,v,1);

_rep(i,l,node cnt)dis/i/=Inf;
deque<int> q;
dis[s]=0;
q.push _back(s);
Iq.empty
int u=q.front();q.pop front();
int i=head|ul;i;i=edgel|i].next
int v=edgel[i].to;
dis/ul+edgeli].w<dis|v
dis|[v]|=dis|ul+edge|i].w;
edge(i].w)q.push back(v);
g.push front(v);

_rep(i,1,n
enter(dis|[i]);

’
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